Soil & Water Management Written Exam

1.
One township measures _____ miles square


a.
6


b.
16


c.
24


d.
48
2.
One township contains _____ sections of land.


a.
6


b.
16


c.
24


d.
36

3.
If a steel tape is not held horizontal and level, the distance measured will be __________


the actual distance.


a.
greater than


b.
less than


c.
the same as


d.
the square root of the given distance

4.
A permanent reference point for which the elevation is known or assumed.


a.
foresight


b.
backsight


c.
benchmark


d.
turning point

5.
A rod reading taken on a point of known elevation.


a.
foresight


b.
backsight


c.
benchmark


d.
turning point

6.
The Height of Instrument is obtained by adding a backsight shot to the _______________ 
of a bench mark:


a.
foresight


b.
elevation


c.
unknown elevation

d.
turning point
7.
An acceptable cut/fill ratio will fall between:


a.
.5 to 1.0


b.
1.2 to 1.6


c.
1.7 to 2.8


d.
8.5 to 1

8.
There are __________ feet in a mile.


a.
43,560


b.
1,320


c.
1,760


d.
5,280

9.
There are __________  in an acre.


a.
43,560 square yards


b.
43,560 square feet


c.
36 square miles


d.
5,280 square feet

10.
One cubic yard contains _____ cubic feet.

a.
3


b.
6


c.
9


d.
27

11.
There are _____ in one centimeter.


a.
10 millimeters


b.
10 centimeters


c.
10 hexagons


d.
10 meters

Questions 12 & 13 refer to the leveling tubes drawn below.
12.
Which of the leveling tubes is not centered and level?


a.
A


b.
B


c.
both are level


d.
neither are level

13.
When turning the leveling screws on a surveying instrument to center the bubble in 
leveling tube A, the bubble will move in the direction of your:

a.
left thumb


b.
right thumb


c.
right pinky finger


d.
prevailing wind


Questions 14 - 16 refer to the grade stake shown to the right.

14.
How much of a cut that will need to be taken at this point?


a.
5.2


b.
5.0


c.
4.7


d.
.2c

15.
What will be the final grade elevation at this point?


a.
5.2


b.
5.0


c.
4.7


d.
.2c

16.
What is the elevation at this point?


a.
5.2


b.
5.0


c.
4.7


d.
.2c


Questions 17 -19 refer to the surveying rod and eyepiece shown.

17.
Using the stadia hairs, what is the distance from the surveying


instrument to the surveying rod?


a.
51 feet


b.
49 feet


c.
18 feet


d.
20 feet

18.
What is the rod reading at this station?


a.
4.97


b.
4.98


c.
5.98


d.
5.21

19.
This rod measures in:


a.
feet and inches


b.
feet and tenths of feet


c.
feet and thousandths of feet


d.
meters and centimeters


Questions 21 - 23 refer to the section of land shown below and to the right.
21.
The proper legal description for the shaded parcel

of land is:


a.
The NW1/4, NW1/4, Section 24, T3N, R3W


b.
The NE1/4, NE1/4, Section 24, T3N, R3W


c.
The NE1/4, NE1/4, T3N, R3W, Section 24


d.
The land in the corner of the section

22.
How many acres are contained in the shaded parcel?


a.
160


b.
80


c.
40


d.
20

23.
How long is dimension “A”?

a.
1 mile

b.
3/4 mile


c.
1/2 mile


d.
1/4 mile
Questions 24 & 25 refer to the parcel of land shown.
24.
Calculate the acreage of this parcel of land.


a.
3.2 acres


b.
4.7 acres


c.
5.0 acres


d.
7.6 acres


25.
The shape of this parcel is a:


a.
trapezoid


b.
diagonal rectangle


c.
diamond


d.
parallelogram
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